Unit 3 – Lesson 6

PART A:  Solving When the Base of the Exponent is the Variable

1. The formula A= P(1+i)n gives the amount, A dollars, of a compound interest investment. In the formula, P dollars is the principal invested, i is the annual interest rate as a decimal and n is the number of years.

a) If Adam invested $500 and in 7 years he had $880, what was the annual interest rate?

b) If Antonio invested $1500 and in 4 years he had $1980, what was the annual interest rate?

c) If Alyssa invested $5000 and in 10 years she had $7750, what was the annual interest rate?

2. The equation V=1/3 π r3 gives the volume, V, of a cone whose height and base radius, r, are equal.  

a. Determine the radius of the cone if its volume is 1000 cm3
b. Determine  the radius of the cone if its volume is 62 m3.

3. The brain mass and body mass of mammals are approximately related by the formula b = 0.011 m 2/3. In the formula, b is the brain mass in kg and m is the body mass in kg.

a. The brain mass of a dog is 0.038 kg. Determine the body mass.

b. The brain mass of a boy is 998 g. Determine the body mass.

4. The resale value of a used vehicle is given by the formula V = C(1-r)n where V is the resale value, C dollars is the original price, r is the rate of depreciation as a decimal and n is the age of the vehicle.

a. A certain car depreciates 19% per year.  The original price was $27 000. When will the resale value be  $13 5000.  

b. The original price of a car is $17 000. It depreciates to $9 8000 in 5 years. What was the depreciation rate?

Part B: Solving when the Variable is in the Exponent

5. 4 5x = 4 20.
6. 4 x = 64

7. 25x+3 = 2 2x+1
8.  25x+3 = 4 x+1
9. 9 2x = 27 x - 1
Homework:  pg 384 #1,3,7,10
